Honeywell

REQUIRED MEASUREMEMNTS OF THE LAST

A - BALL WIDTH (EDGE TD EDGE)

B - BALL GIRTH [AROUMD)

C = BALL WAIST [ARCUMD]

D - INSTEP GIRTH [ARDUND)

E - BOTTOM LENGTH (EDGE T{HDGE]

Row Labels ..7/Sum of B(mm) SumofA(mm) SumofE (mm) Sum of C(mm)
= Ultimate steel/ agile /ST40 3915 1470.4 4125 3780

35 226 85.1 222.5 218.3
36 231 86.9 230 223.1
37 236 88.8 2375 2279
38 241 90.6 245 232.7
39 246 92.5 2525 2375
40 251 94.3 260 242.4
41 256 96.2 267.5 247.2
42 261 98 275 252
43 266 99.9 282.5 256.8
44 271 101.7 290 261.6
45 276 103.6 297.5 266.5
46 281 105.4 305 2713
47 286 107.3 3125 276.1
48 291 109.1 320 280.9
49 296 111 327.5 285.7




